
Bowling Tournament
by Shelly Hazard

Last weekend was the men’s annual bowling tournament, an 
event of competition and fun for the local townspeople. This 

year, excitement ran high as five contestants bowled neck and 
neck for the championship. Each time a bowler won a game, he 

scored two points and the bowler with the highest number of points at 
the end of the tournament won. Determine the full name of each bowler, their 
high score (264 to 288), and how many points each won (28 to 36).

1. Frank, whose last name wasn’t Thompson, had the highest score but he 
didn’t win the tournament.

2. Mr. Smith’s high score was three pins higher than that of the bowler with 30 
points.

3. Steven’s last name wasn’t Stewart. The winner of the tournament, who had 
36 points, had an odd number for a high score.

4. Michael finished the tournament with six points less than Mr. Williams.

5. The bowler with a high score of 273 had two points more than Mr. Smith but 
two points less than Craig.

6. Mr. Thompson won fewer points than Walter but more than Steven Lewis.
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